1) Find the error in each of the following segments:

a)

int  *number;

cout << number << endl;
b)

float  fval,  *realPtr  =  &fval;

long  lval,  *integerPtr  =  &lval;

integerPtr = realPtr;
c)

int  *x,  y = 10;

x = y;
d)

char s [ ]  =  “this is an array”;

for (  ;  *s != ’\0’;  s++ )


cout <<  *s  <<  ‘ ‘;
e)

short  result,  *numPtr  =  &result;

void  *genericPtr  =  numPtr;

result  =  *genericPtr + 7;
f)

float x = 19.34;

float xPtr = &x;

cout << xPtr << endl;

2) What is the output of the following program


#include <iostream.h>

int  funcB (const char *);

int  main ( ) {


char  string1 [40] = ”CSC212B”;


cout  <<  funcB ( string1 )  <<  endl;


return 0;

}

int  funcB ( const char *s ) {


for ( int x = 0; *s != ‘\0’; s++ )



++x;


return x;

}

3) What is the output of the following program?


#include <iostream.h>

void funcA ( char *, const char * );

int main ( ) {


char string1 [40] = ”Line1”,  string2[40] = ”Line2”;


funcA ( string1, string2 );


cout << string1 << endl;


cout << string2 << endl;


return 0;

}


void funcA ( char *s1, const char *s2 ) {


while (*s1 != ‘\0’)



++s1;


for ( ; *s1 = *s2;  s1++,  s2++ )
;

}

4) What is the output of the following program?


#include <iostream.h>

int funcX ( const char *,  const char * );

int main ( ) {


char string1 [40] = ”Line1”,  string2[40]=”Line2”;


cout  <<  funcX ( string1, string2 )  <<  endl;


return 0;

}


int funcX ( const char *s1,  const char *s2 ) {


for  (  ; *s1 != ‘\0’  &&  *s2 != ’\0’ ;  s1++,  s2++  )



if  ( *s1 != *s2 )




return 0;


return 1;

}
5) What is the output of the following program?

#include <iostream.h>

void main ( ) {

      char c1[3][11]={“C++”,”Programing”,”Language”};

      char *c2[] = {“Notre”,”Dame”,”University”};

      cout  <<  c1[0]

<<  endl;

      cout  <<  c1[2][5]
<<  endl;

      cout  <<  c2[1]

<<  endl;

      cout  <<  c2[2][3]
<<  endl;

      cout  <<  *(c1 + 1)
<<  endl;

}

6) What is the output of the following program?


char fred[50];

strcpy ( fred,  "Today" );

if  ( fred == "Today" )


cout  <<  ”Of course!”

else


cout  <<  ”Today is not Today on planet C++”

7) What is the output of the following program?

char  fred1[]  =  "barney",  fred2[20]  =  "barney";

char  *fred3   =  "barney";

cout
<< strlen(fred1) << strlen(fred2) << strlen(fred3)


<< sizeof(fred1) << sizeof(fred2) << sizeof(fred3);

Answers:
1)
a) ANS: Pointer “number“ does not "point" to a valid address. Assigning “number“ to an address would correct the problem.

b) ANS: A pointer of type float cannot be directly assigned to a pointer of type long.

c) ANS: Variable y is not a pointer, and therefore cannot be assigned to x.  Change the assignment statement to: x = &y;
d) ANS: s is not a modifiable value (the name of the array is a constant address).  Attempting to use operator ++ is a syntax error.

e) ANS: A void * pointer cannot be dereferenced.

f) ANS: xPtr is not a pointer and therefore cannot be assigned an address.  Place a * before xPtr (in the declaration) to correct the problem.  The cout statement display’s the address to which xPtr points (once the previous correction is made)—this is not an error.

2) ANS:  7 (funcB acts as strlen)

3) ANS: Line1Line2


    Line2

    (funcA acts as strcat)

4) ANS: 0

5) ANS: C++

    a

    Dame


    v


    Programming

6) ANS: Today is not Today on planet C++

Remember that = = between strings compares pointers, not string contents. Since the two strings must be in different locations, the test is false. The correct way to perform this test is to use the string comparison library function. You use #include <string.h> at the top of your program, then code the test if(strcmp(fred, “Today”) = = 0)

7) ANS: 6  6  6  7  20  4
The last number may vary on different systems, but the others should be the same.  The first three numbers represent the length of the string, which are six characters however the string is stored.  The number 7 represents the space required to store the string, 6 characters plus one byte for the terminator (‘\0’).  The number 20 is just the storage size of fred2, as declared.  Since fred3 is a pointer, the number 4 represents the size of one pointer, not the string itself.  This will vary from system to system, but number 4 is probably the most common.

